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SECTION - A
i) General Awareness

1.  Which one of the following 4. "Hand in Hand” a joint military
organization releases the “Living exercise held between which of the

Planet Report” ? ' following countries ?

(A) The World Wildlife Fund ' (A) India and China

(B) IUCN (International Union for (B) India and UAE

Conservation of Nature) (C) India and Bangladesh

(C) Botanical Survey of India (D) India and Nepal

(D) Zoological Survey of India 5. Which of the following Amendment Act

. ) for the Indian Constitution adopted a
2. When was National Science Day

Fundamental duties in it ?
observed every year ?
(A) 42" Amendment Act

(A) 14" February
(B) 32nd Amendment Act

B) 28" Feb
(B) ebruary (C) 52"d Amendment Act

' st
(C) 21% October (D) None of the above

(D) None of the above
6. "Minamata Convention” is a global

3. When was National Youth Day observed treaty to protect human health and

every year ? environment from the adverse effect

i of which of the following chemical ?
(A) 121 January

A) B
(B) 215t March i
(B) Uranium
(C) 218 June .
(C) Mercury

D) Non
(D) e of the above (D) None of the above

2.
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1. Fafafes o 8 - geen fafam 4. 'ﬂﬂﬁﬂm”@ Ggm@ﬁ:awm
e e S et § 2 fFreferfian & & form it o st gan 2
(A) T TS ARCSARE FS (A) W 3R
(B) IUCN (32H¥He HaF B (B) Waﬂiqqu.
e Sl = (C) W\ IR FHeATe
. (D) ARG R A9
(C) Y™ 9Tey fagm ga&mr
(D) W Sig fosm wea 5. freffaa 3 9 R9-3 g afee
F e AfefaEm 3 Hiferss Fdeal #i
2. wfa o Uiy fogm feaw e gamn ®
ST 2 AU & ?
A) 14w (A) 4231 Gie sTifRm
(C) 213 (C) 521 Ty Irfafgm
(D) 3T | ¥ g AL (D) IR U & I3 AL
6. “firmmer =y f=fafaa 3 @ e

3. VI 98 UK gaT a9 e FAR]

ST e ?
(A) 12 SFad

(B) 21w

() 21 @
(D) STEF & e 7

T o gl 8 HHE W 3
Tatater i T= 6 Sfvas | 2
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7. India is a Signatory for which of the
following organization ?
(A) UNEP (United Nations Environment

Programme)

EDF (Environmental Defense

Fund)
(C) World Watch Institute
(D) None of the above

8. The Headquarters of International
Court of Justice located at

(A) Rome, ltaly
(B) Shanghai, China
(C) The Hague, Netherland

(D) None of the above

9. Nobel Award, 2018 for Economics
awarded to William Nordhaus and

Paul Romer for their contribution to
(A) Behavioural economics

(B) Contract theory

(C) Integrating climate change and
technological innovation with
economic growth

None of the above

(D)

10.

11,

T
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Choose the correct pair of Railways

with its Headquarters.

a. Central Railway — Mumbai
b. Northern Railway — New Delhi
Choose the right option given below :
(A) Both a and b are correct
(B) Only a is correct

(C) Only b is correct

(D) None of the above

Which of the following tree species
considered as a National tree

of India ?

(A) Indian Banyan tree
(B) Ashoka tree

(C) Neem tree

(D) None of the above

Sri Lanka is separated from India by

which of the following strait ?
(A) Palk strait

(B) Malacca strait

(C) Gibraltar strait

(D) None of the above




b2

g

i Feferfiaa o & form e =

EEAEEHA © 7

(A) UNEP (ZATEes 3979 TaRGie
W)

(B) EDF (THamatiice! fetha we)

(C) TIwE di T

(D) SR H & IS T

AN AT T AT

TR |

(A) TH, geeit

(B) wHmE, o=

(C) T &, fieteis

(D) 3w o A FI$ T

el QUER, 2018 srefvme # faferam

g ofit aie UwT i 3% i

I &g fear T |

(A) STIETIG AT

(B) wfeer faga

(C) =i gfg & T STerary i
3R qFeh! T 1 T

(D) IRIFT | | HIS T

10.

11.

12.
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e 3R 30 YA % Hel I A
g |

a. FEAWY -yl

b. SWiza - =3 Rk

A fog e 3 & et fererew g
(A) a AR b I @&t &

(B) Fal awel®

(C) a1 b &l &

(D) I A & HrE e

F=fafea & @ SF-dt 9@ yonfa =i
I 1 TS 981 AT 14T & 2

(A) WReT 92 g8

(B) M g&

(C) Himaga

(D) 3Iwde ¥ & FIE e

e =t i § Fefafea 3 @ -
GrEt gusH FA § 7
(A) 9T i @t

(B) TeTeH @Il
(C) Torsimeex wreh

(D) I # ¥ IS 7=




13. Where was the design of our national
flag adopted ?
(A) Surat Session of Congress, 1907
(B) Constituent Assembly of India, 1947
(C) Haripura Congress Session, 1938

(D) None of the above

14. Which of the following mountain range
is considered as the continuation of
the Western Ghats ?

A) Satpura hills range

(

(B) Aravali hills range
" (C) - Cardamom hills range
(

D) None of the above

15.. ‘Dharma Guardian — 2018, a first ever
joint military exercise of India with
" which of the following country ?
" (A) Nepal (B) Bhutan
(C) Japan (D) China

16. Choose the correct pair of cyclones
and its affected areas.

a. Cyclone Fani — Odisha Coast
b. Cyclone Gaja — Tamil Nadu Coast
Choose the right option given below :

A) Only a is correct

C

(A)

(B) Only b is correct

(C) Both a and b are correct
)

o)

None of the above

1/

18.

19.

20.

MKG-XVIITECHCIRACMAT/01

CAG of India is appointed by whom ?
(A) President of India
(B) Prime Minister of India
(C) Lok Sabha Speaker

)

(D) None of the above

Select the right statement about

the Government of India Initiative

Digiyatra.

(A) It was launched by the Union
Ministry of Civil Aviation

(B) It was launched by the Union
Ministry of Tourism

(C) It was launched by the Union
Ministry of External Affairs

(D) None of the above

_ From where was the National Emblem

of India adopted ?

(A) Lion, Capital of Ashoka at Saranath
(B) Mundaka Upanishad

(C) Pataliputra, Capital of Ashoka

(D) None of the above

Which of the following Indian regions

were affected by the cyclone Mora ?
(A) North East Part of India

(B) Coastal Region of Gujarat
(C) Coastal Region of Karnataka
(D) None of the above




14,

15.

16.

FHR TS TSI il el Ao
TRIT ?

(A) HE F gLa AGyH |, 1907
(B) Rd =ht GE AT, 1947

(C) &YU s AfeaeH, 1938

(D) Iuer § & g TR
frefafeg o @ Fi9-d wEda goft
afvert e =1 famar o s @ 2
(A) HagST Ted A

(B) STt yaq Svft

(C) =HreiHH Yaq At

(D) IR | § hIg T

‘e IS — 2018, RA 1 Tgel
TgEa 8 oy Frferfea & @ farg
3T |19 {3 2
(A) 9T

(C) SmaH

TEHaTd 3R 3k I T9Tiad &3 & Hel
RN
a, THAE BHI  — TSI a2

b. FHFAM IS  — AMHTHIG G2

A) o a el ®
B) %dad b el &
C) a3 b3 Tt &
D) 3w d | 1S el

(
(
(
(

LI

18.

19.

20.
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WA % CAG #i FgfR s s 2 2

(A) ¥R 1 Trsgfel

(B) WA =1 WHHHT

(C) Arera Tie

(D) I H & I e

IR TR 5 & 6 718 fefommn & ar

H et e g |

(A) TE HE AT ITH HATTE G
MISERIE

(B) I& I WA WA FHT IF
EIRIH

(C) Fe Fay facsht amati & warerd g
NIEIRIE

(D) 39 ¥ | HIS el

R o TS Fored =t el ¥ STomn

Bir)

(A) 37T St TSTEHT GRATY
e @

(B) HsHrfAue

(C) 3T Y TG, TIeeigs §

(D) Iugea § & #iE e

frefafed § @ w-9 e 8

SRATA [T FI THTfed B 2

(A) T T3 S feemn

(B) TG I G2 &

(C) Fles =i adig &

(D) 39 & F S T




21.

22,

23.

24.
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ii) General Intelligence and Reasoning Ability

In a family of 6 members, B has
2 daughters and an unmarried son. N is
Q's (female) brother-in-law. ‘L’ has a
son ‘S’. Q is F's sister. B is L’s father.
Then Fis S’s

(A) Father
(B

) Brother
(C)
)

Aunty

(D) Uncle

Find the odd man out.
16, 25, 36, 62, 144, 196, 225.

(C) 196
(D) 144

2,7,16, 2, 46, 67, 92.

Sound : Cacophony
(A) Taste: Style

(B)
(C)
(D)

Touch : Massage
Smell : Stench
Sight : Panorama

25. Here are some words translated from
an artificial language.
moolokarn means blue sky
wilkospadi means bicycle race
moolowilko means blue bicycle
Which word could mean ‘race car’ ?
(A) wilkozwet
(B)
(©)
(D)

spadiwilko
moolobreil
spadivolo

For questions 26 and 27 refer to the data

below :
AAB:’E\JFB,,fs\[rQla:——'{\_B,yﬂmB:A+Br
2 A-B
A*B:AhB
A+B

26. Find the value of (2A8) O (6A4).

(A) 10 (B) 20
(C) 0 (D) 2
27. Find the value of (1006) A (28020).
(A) 5 (B) 6
(C) 8 (D) 10
28. Find the missing number.

48, 24, 96, 2, 192.
(A) 48

(B) 47
(C) 44
(D) 54
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ii) BT gigman aun arfehe argan

21. 6¥aHl % UF TRER H, BRI Al afeai ® | 25, e uw Fhm v & 3o we sfa g
i us rfaanfea g 21N, Q (afEe) = TR |
STE | LIS 1Q,FHRITETR | moolokarn =T 374 blue sky & \
S - wilkospadi %1 319 bicycle race €
JR R e moolowilko T 319 blue bicycle &
(A) T o vse 7 379 ‘race car BT 7
(B) S (A) wilkozwet
. (B) spadiwilko
(C) == (C) moolobreil
(D) == (D) spadivolo
22w i BifeT | T GEAT 26 3 27 F fore R R m i
16, 25, 36, 62, 144, 196, 225. =1 gy =i ;
A AMB=2E g AP iy g B8
(B) 62 27T 2 T A-B
_ A-B
(C) 196 A*B= re
(L) 0344 26. (2A8) O (6A4) 1 WH T & |
(A) 10 (B) 20
23. 2,7, 16,2, 46, 67, 92. (C) O (D) 2
(A}e9 27. (1006) A (28020) %1 T TTd FX |
(B) 35 (A) 5 (B) 6
(C) 8 (D) 10
(C) 36
(D) 41 28. W UEHT 1A K |
48, 24, 96, 2, 192.
24. ¥ ; FHAEA
(A) ST ; W5 ) 48
(B) st : miferwn (B) 47
(C) Tw: gl (C) 44
(D) §w : feamaet (D) 54
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29. Fact 1 : Jessica has four children.
Fact 2 : Two of the children have blue
eyes and two of the children have brown
eyes.
Fact 3 : Half of the children are girls.
If the first three statements are facts,
which of the following statements must
also be a fact ?

|. At least one girl has blue eyes.

Il. Two of the children are boys.
lll. The boys have brown eyes.

(A) Il only

(B) Iand lll only
(C) Iland Ill only
(D) None of these

30. There are 5 different houses, A to E
in a row. A is to the right of B and E is
to the left of C and right of A, B is to
the right of D. Which house is in the
middle ?

(A) A
(B) B

(€ C

(D) D

31. If P is the husband of Q and R is the
mother of S and Q. WhatisRto P ?
(A) Mother
(B) Sister

(C) Aunt
(D) Mother-in-law

-10-

32.

33.

34,

35.

MKG-XVITECHCIRACM/IT/01

If A=1, FAT =27, then FAITH = ?

One student is asked to divide a half of
a number by 6 and other half by 4 and
then to add the two quantities. Instead of
doing so, the student divides the given
number by 5. If the answer is 4 short of
the correct answer, then the number was
(A) 320

(B) 40
(C) 48
(D) None of the above

AW
o

N
o

Daily earnings of two persons are in the
ratio 4 : 5 and their daily expenses are
inthe ratio 7 : 9. If each saves T 50 per
day, their daily incomes in ¥ are

(A) 40,50
(B) 50, 40
(C) 400, 500

(D) None of the above




5
29. dqLA 1 AH H IR T & |
AL 2 : Tl Sl il AiA] ATE & 3K
21 s ot ot 31T # |
A% 3 : Y g4 Al § |
Ife ygat o e ae1 &, Fafafea d @
FH-TTFIATFH A & 7
|, 9 Y FH UF o H At e E |
I, S TEH T |
lll. gt Fi 31T@ s 2 |
) |l FaEd
| 37111 e
|| 3R 111 e
) TH | FIE AL

(A
(B)
(C)
(D
30. 5T TMATETHIRHE | A, BF T

IRE CHAUIMAFIATL IB,DHF
TWR | FHAT AT H 7

(A) A

31, AP, QF UG e ANR, SARQFH AT
e, ARFPUAFNGETRE 2

(A
(B

—d

|l

(C) =r=i

)
) &
)

(D) &

-11=

32.

33.

34.

35.
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g A=1, FAT =27, @ FAITH = ?

LARGE : NCTIG :: QUIET :

(A) SWKGV (B) GKVWS

(C) RPQMN (D) TEIUQ

we fereneff =1 u=h S % e i 6 9 3N
T F o 48 RaRm e & R
e ST & ST S| AT H Sed &
o er ST 2 | I8 = Y st faemeff
& 7 g #i 5 8 fAwsa war g | 3l
I GE IT Y 4 FA &, O 98 T o
(A) 320

(B) 400

(C) 480

(D) 39 | ¥ FIg el

3 Sl o 2 T 4 ;5% U A B
3 I S =g 7 9 U H € | Afe
g1 T 50 wfd o7 s=m €, ot 39kt o
AFAIAE

(A) 40, 50

(B) 50, 40

(C) 400, 500

(

D) I H & FIx e
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36. A, B, C, Dand E are 5 shopkeepers. | Direction for Q. No. 39 and 40 :
They have to be arranged in a particular
order in 6 shops, as per the condition
given below : of a building and each one of them prefers a

4 people A, B, C, D stay on 4 different floors

1) E occupies a shop after D. particular brand of watch from the following :
2) A and E do not occupy the end

positions.

3) There are 2 people and 3 shops 1) A takes either the 4t" or 3™ fioor and
between A and C.

— Omega, Titan, Fastrack and Citizen

prefers Titan.
4) B occupies position 1.

Who occupies the shop nextto B ? 2) B stays just above the person who

(A) A likes Citizen.

(F)-Dand A 3) Person who likes Fastrack stays on
(GG the 4% floor.

(D) E

4) D stays on a higher floor than C.

37. If in a certain code language NAME is

. _ 39. Who stays on the first floor ?
written as 4258, then what is coded as

MEAN ? (A) A
(A) 2458 (B) 5842 (B) C
(C) 8524 (D) 5824 ) B
38. Tanya is older than Eric. (B) D
Cliff is older than Tanya.
Eric is older than Cliff. 40. Who prefers Citizen ?
If the first tiwo statements are true, A) A
then the third statement is
(A) True B) D
(B) False (C) B
(C) Uncertain D) C

(D) None of these

-12-
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36. A,B,C,D3REYE5THMINE |I2 A

&} 7T YT % STFER 6 gHHI H T faem
%9 § A FETE
1) ERZFEAD&IRE |
2) AR E 3 s | R |
3) A 3R C & ot 2 =ufa 31k
3THMT |
4) BYSHEIHWE |
B# 37Telt 3 fohehl & 7
(A) A
(B) D3RA
(C) C
(D) E
37. afe us fAfvad e v § NAME &t
4258 Terar wimar &, @ foFest %2 MEAN
B 7
(A) 2458 (B) 5842
(C) 8524 (D) 5824
38. T, TREF H 9! T |
o, AT ST R |
i, Fres A weT? |
I Ueet B HYA T &, T g FH &
(A) T
(B) 3TE
(C) iffra
(D) T ¥ g T

5 T
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WY H. 39 37 40  fou g -
4=gf& A, B, C, D T $9Ra & 4 o= wiveil |
d & 3 390 | Yo faforfiaa 3 & o fouis
7S I TG T 2 :
1) AT g 1 =gy wivier <t 2 oI
15 ! T fierar qar @ |

2) B39 AfFd & dier S @Al B, S fafesm
UEE FAT R |
AR WIET 2 |

D,CY¥ S A W@ & |

. Y B W @l ¢

(D) D

40. F fafesm = wofiFm ear g 7
(A) A
(B) D

(C) B
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iii) Arithmetical and Numerical Ability

41, |f the sum of two numbers is 15 and their

difference is 3, then the numbers are
(A) 5and?2
(B) 9and 6
(C) 3and 5

(D) 5and 10

42. The average weight of a group of
35 people is 47.5 kgs. If a 36" person is
added to the group, the average weight
increases by 0.5 kg, then the weight of
the 36" person is
(A) 65.5 kgs
(B) 70 kgs
(C) 60.5kgs

(D) 65 kgs

43. The time taken for a sum of money to
double itself at 8% per annum simple
interest is
(A) 10 years
(B) 8years
(C) 12 years
(D) 12.5 years

-14-

44,

45,

46.

The value of 1 — cos? 45° is

V21

(A) 5

1

®)

() ¥8
2

D) 1

If o.and f are the roots of the equation

3x2—10x + 7 =0, then a’B +B%a =
(A 73

B) "%
(€ 795
© %

One year ago, a man was 8 times as old
as his son. If his present age is equal
to the square of his son's age, then the

present age of the son is
(A) 7 years

(B) 6 years
(C) 5years
(D)

D) 8years
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41.

42.

43.
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iii) STV U GEaTeHa: Fraar

Ife S T = AN 158 R I
IR 3T, ° I8 &AW &

(A) 532
(B) 936
(C) 33R5

(D) 5310

35 Al o THE 1 SHT TR 47.5 kgs
® | 9fe us 36 i =afew gqe ¥ wire foan
ST, A1 3f9d YR 0.5 kg 9¢ 9@ ©, d
36 o =afdd F1 IR 2

(A) 65.5Kkgs
(B) 70 kgs
(C) 60.5kgs
(D) 65kgs

T M i Ge % AT B % T 8%
e o wrawer s i & ¥ A g9
I ?

(A) 1099

(B) 8%

(C) 1299

(D) 12598

44.

45.

46.

1 — c0S245° FTHHE 2
V2 -1

W 5

(B)

N | —

() ¥3
2
(D) 1

i o 3T B THEHT 3x2 - 10x + 7 =0
AR, A a’B+pia=

(A 73

-70/
B) ~7%

U 99 g, T sl i 3T 3 gA A
g % 8 I ot | Afe IWHl FAHH I
U I il AY & a1 & SR 8, O G
1 S TG T 7 7

(A) 794
(B) 6T
(C) 534
(D) sy




48.

49,

50.

Ifgzgzg,ihena+b+0=
3 4 7 c
(A) 2
(B) 3
©) 4
(D) 1
The sumof 1, 8,5, 7, .... to 30h

term is
(A) 900
(B) 950
(C) 800
(D)

D) None of these

The points A(5, —2), B(6, 4) and
C(7, —2) are the vertices of

(A
(B
(@
(

An isosceles triangle
Equilateral triangle
Right angled triangle

D) None of these

)
)
)
)

If 15 cot A=8, thensec A is

/
® %7

© %4

15/
() 15,

al.

52.

53.

54.
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A ladder is placed against a wall such
that its foot is at a distance of 2.5 m from
the wall and its top reaches a window
6 m above the ground. Find the length
of the ladder.

(A) 85m
(B) 45m
(C) 85m
(D) 6.5 m

The number of terms in the Arithmetic

Progression 18, 15%, 3 aes - 47 is
(A) 27
(B) 26
(C) 20
(D) 19

If HCF of 96 and 404 is 4, then their
LCM is

(A) 9090

(B) 9696

(C) 96 x 404

(D) None of these

On dividing x® —= 3x2 + x + 2 by a
polynomial g(x), the quotient and
remainder were (x — 2) and (-2x + 4)
respectively. Find g(x).

(A) x2—1

(B) x%+3x-2

(C) x2—x+1
(D)

X2 4+ X —1




\ a+b+
47. aﬁ'§=§=% %,m—-g S =
(A) 2
(B) 3
(C) 4
(D) 1
48. 1,8,5,7,.. 930392 H I 2

49,

50.

-17=

(A) 900

(B) 950

(C) 800

(D) 99 ¥ IS T&f

g A(5, —2), B(6, 4) 3 C(7, -2)
& IfY 2 |

(A) T Gz

(B) Twag vyt

(C) wmehT e

(D) T8 & g TEl

afe 15cotA=8,dlsecA®

A 1%

51.

52.

53.

54.
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TF il SR & 919 59 TR O U 2
T 39 IR dER Y 2.5 m g R
IR IH I ST & 6 m TR e
T Yo @ | Hi At w3 Ay
8.5m

AT Soft 18, 15%, 13 ... — 47 9 921
=T & ©

(A) 27

(B) 26

(C) 20

(D) 19

a3 96 3T 404 1 WY 4 B, A I
Y &

(A) 9090

(B) 9696

(C) 96 x 404

(D) 7 & =IE &

x3—8x2 + X + 2 Tl TF 959 g(x) T 91

A TR RS ST SINGe ShAST: (x - 2) 37

(—2x + 4) ¥ | g(x) T4 FifSrg|

(A) x2-1

(B) x2+3x-2
C) 2=x+1
)

(
(D) X2 +x~-1
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55. Simplified value of

(0.3)* (0.09) /2(0 027) 6
(0.0081)4

(A) 0.3
(B) -03%
(C) (0.3)%
(D) 0.3
56. The wickets taken by a bowler in
10 cricket matches are as follows :

2,6,4,5,0,2,1,32,8.
Then the mode of the data is

57. When a fair die is thrown, the
probability of getting a number greater
than 3 is

Dl O|l—= Bl N|—

-18-

58.

59.

60.
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The cost of fencing a circular field at
the rate of ¥ 24 per metre is T 5,280.
The field is to be ploughed at the rate
of ¥ 0.50 per m?. The cost of ploughing
the whole field is (Take T = 22/7]

(A) T 1,925
(B) ¥ 225
(C) ¥ 2,025
(

D) None of these

The area of a sector of a circle with
radius 6 cm, if the angle of the sector
is 60°, is [Use 7= 12?3

i

13
A) —cm?
(A) =
B E.Q_(;me
(C) Ecmz
7
(D) 132 cm?

If one angle of a triangle is equal to one
angle of the other triangle and the sides
including these angles are proportional,
then the triangles are

(A)

(B) Similar
(C) Both (
(D)

Congruent

(A) and (B)

None of these




i

55.

56.

o7.
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9

(0.3)* (0.09) 72(0.027)

Y ERLGIET:
(0.0081)"4

10 Torehe Bt o wep Tiears g fore o
ferhel <t T frergem 2
2,6,4,5,0,2 1,32, 3.

(A) 6

(B)
(C)
(D)

N A O

STe Teh SN 9THT Shehl 1T 8, A1 3 9
feren dear 3 & e &

(A)

N | —

(B)

N

(€)

O
D o=

58.

59.

60.
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T IR € & TR 3R 1T A
T T 24 i A H T 52802 |
GA S H @ T 0,509 m2 B IR
Gl S 1@ (=224 +hifira)
(A) T 1,925

(B) ¥ 225

(C) % 2,025

(D) 7 | =i% e

& g9 foreeht e 6 om @ 3k aft 3o
frsar@e %1 #iv 60° ?, A BsamEs #

13
—Cm
=

132
——Cm
-

122
—Cm
=

132 cm?
e ok Bt 1 O i1 T By & 0
FHIVT o ST @ 3T S HI0 1 T Jrelt
(A) watmey
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iv) Hindi Language and Comprehension

fo=dt s siv &y
61. ‘Tom + 3o = fewrer’ w=t 65. Torrel’ AR GHE &
g | | | (A) IregdvE (B) degES
(A) TE (B) T (€) wgshfe (D) T
() s (D) e 66. foifiga v it 38 B | B gw @i
62. wige forfiay | ®__ wed g, fowes g e T
3. gETw %, TEIE TH ST |
- | (A) i (B) Futaren
3. HieThae Q. g o
(C) W& (D) =T
3. e . FHYRF GHE
3. quTEfiy . Sgiifs aum 67. AT Ug I 9vi-faese fafau |
3. fomer T. T o (A) T+3M+ T +3+F + 3
) @M G 6 G (B) T+3M+H+3+q+F+A
A & T T W ¥ (C) T+HA+HG+A+q+3+%F
(B) @ H & T § D) A+AT+H+q+3+F+ A
© % 7T ¥ @ ¥ 68. ‘Haw g o Y &
M) % T T ¥ @ (A) Torelt = g ford T U <t U
A STl
63. feson s wamfomE (B) foreht & gr fordl e 3usER =1
e - e A Il
G EIAL (C) T ! A THIH Il
(C) fefera (D) st (D) Fag =l §Td A=A AT
64. FieBEeals | I A t@ifraue | 69. FETHH TN @ || @I A

T FF 2 7
(A) Sl Fh
(C) +H Fh

(B) O FH
(D) TYEH FH
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A9 8
(A) I3 (B) T
(C) FerrT (D) T8 & #ig T




Z1.

72.

73.
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T A HE TE e F ot A R 7

(A) wol (B) H=sX
(C) & (D) #H
STgent ferflaT |
Areniteaal ared
A FEHAFAET . UTST U YT
=T THUE FHTT
I HYSA T W @ H IS
B AU Te1-for@n
3. oot @ . FEl A A
3geht dF eSO ES
3OS H FAT . T idawel
YWHITHRH ol Sd el
I.TYFHEAR T TAH H GH
STt =T 7 1 TRl
L
@) @) 3@ 6 )
A §F W T ¥ T
B @ F T T H
© ® T ¥ T =
D @ & ¥ T ¥

YT ¥ TR Ue 9t ® || 3% 9

IR |
(A) FHaT=A (B) whgar=a
(C) === (D) Hig el

‘i’ gdAm Y YS9 R
(A) T (B) W=
(C) Hm (D) we

74.

75,

76.

77.

78.

79.

80.
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T T FAT 39 eral o 7y 8

(A) TR

(B) & & A AT

(C) =9 U F FFHT

(D) M F TATIAT

i wreg 1 SgEEE w9 @

(A) firfe (B)
(C) frmd (D) fifem
aren + fge =

(A) TYRger (B) SmyRETE
(C) 3tTigen (D) =rafge
T wee T 37 g

(A) = (B) 3T
(C) ®r (D) ¥ ¥ =1 e

F+HA+H+ A+ +HA=
39U FUT1 o Aot @ vrse fmior Hifs |

(A) FH (B) W

(C) =ue (D) Frem

afe + AT =

(A) =Ty (B) T=M™

(C) wfefy (D) FEiM

ST YT ST AT Sl ST || 36 ST
o i faw #

(A) 3= (B) SH

(C) TN (D) wat
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v) English Language and Comprehension

A AT iR Sy

Fill in the blanks with appropriate word.,

81. The giant was ugly he was
kind.
(A) but (B) though
(C) for (D) till

82. The land was formed in accordance
the best modern ideas.

(A) by (B) for
(C) with (D) from
83. The tourists arrived by road and
rail.
(A) in (B) by
(C) through (D) an

Identify the indirect object in the following
sentences.

84. Kate gave Jean an expensive
present.
(A) gave
(B) Jean
(C) Kate
(D) present
85. The chef made the late arrivals a hasty
supper.
(A) the chef
(B) the late arrivals
(C) made
(D) a hasty supper

86. The wealthy farmer surveyed his
fertile fields.
The underlined word is

(A) averb

(B) a pronoun
(C) an adjective
(D) an adverb

Fill in the blanks with appropriate verb
form.

87. He has for five hours.
(A) Sleeping
(B) Slept
(C) Been sleeping
(D) Sleep
88. He her letter a week ago.

(A) received

(B) had received

(C) has received

(D) receive
Select appropriate phrasal verb to
fill in the blanks.

89. If you are a diabetic, you must

sugar.
(A) cutout (B) cut off
(C) cuton (D) cutin
90. Doctors are often _at night.
(A) called off
(B) call up

(C) called out
(D) call through

Pick out the word that is most nearly the
same in meaning as the given word.

91. REALM
(A) province
(B) give up
(C) surrender
(D)

D) turn over

g2. DINGY
(A) spotless (B) dusty
(C) immaculate (D) unsoiled




b
Select the wrongly spelt word.
98. twinge

imbue

CRCEE

)
)

C) sceptics
)

(D) alegiance

94. (A)
(B)
(C)

(D)

jargon
alian
regimen
extract

Fill in the blanks with appropriate article if
necessary.

95. whale is an endangered
species.
(A) A (B) The
(C) An (D) Not necessary
96. He was useful person.
(A) an (B) a
(C) the (D) not necessary

Read the following passage and answer the
questions (Q. No. 97 - 100) :

Some birds have two homes — one for the
winter season and the other for summer. Each
year they migrate from their winter homes to
their summer homes and back again, flying
thousands of kilometers across many countries
and oceans. But the wonder is that they never
get lost; they always manage to find their way
home even though they have to travel such
vast distances. This is one of the misteries of
nature. Some ornithologists who have studied
the migratory habits of birds think the creatures

-23-
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may have some kind of direction finding
instrument in their brains. Others believe
that they are able to find out their position by
referring to the position of the sun or the stars
in the sky just as sailors do at sea.

97. How do sailors find out their position ?
(A) By contacting the shore authority
(B) They refer the position of the sun
(C) They refer the position of the stars
(D) Both (B) and (C)

98. Find an appropriate word from the
passage to fill in the blanks.
Thousands of workers
area each summer.

to this

(A) Direct
(B) Migrate
(C) Sails

(D) None of the above

99. Findone word substitute for the following
from the passage.

‘A person who studies about birds.’

(A) Sailor

(B) Mystery

(C) Ornithologist

(D) None of the above

100. What is surprising about the migration

of birds ?

(A) They migrate from one place to
another

(B) They travel vast distance

(C) They manage to find their way
home

(D) None of the above
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101.

102.

103.

104.

105.
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SECTION-B
Post Specific Subject ~ Related Questions

Unit of electric power is

(A) Ampere

(B) Watt

(C) Volt

(D) Ohm

One pico Farad is equal to
(A) 1073 Farad

(B) 107° Farad

(C) 107'2 Farad

(D) 10°° Farad

Conductance is reciprocal of
(A) Inductance

(B) Semiconductance

(C) Resistance

(D) None

The material used to separate the plates
of a capacitor from each other is

(A)
(B)
(C)
(D)

Dielectric
Diode
Inductor

D) Resistor

is a coil which opposes the
flow of current through itself in the form
of a magnetic field.

(A) Resistor
(B) Inductor
(C) Capacitor
(D) Transistor

106.

107.

108.

108.

110.

A refrigerator does not contain which of
the following parts ?

(A) Evaporator
(B) Compressor
(C) Condenser
(D) Exposive device

Which of the following CFC substance
is used in modern air conditioners ?

(A) R10 (B) Ri2
(C) R22 (D) R21
1 Ton Refrigeration (TR) =
Btu/hr.

(A) 200 (B) 1200
(C) 12000 (D) 3024

What is the refrigeration capacity of an
air conditioning unit with a power input
to motor being 48 kW (95% efficiency)
and heat rejected in condenser being
167.5 kW ?

(A) 45.6 kW (B) 121.9kW
(C) 213.1 kW (D) 456 kW
Accordingto , arefrigeration

cycle operating reversibly between
two heat reservoirs has the highest
coefficient of performance.

(A) Carnot principle
(B)
C) Kelvin Planck principle
D)

Carrot principle

(
(

None of the above




101.

102.

103.

104.

105.
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i
e Wiitees g - geeft g

foreg iy o obrd 2
(A) TR

(B) dfe

(C) ez

(D) TEH

e B

U TG i JYaial i T g 8 995
o § ST B aTen 9 §
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106.

107.

108.

108.

110.
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ue Esie d Fferfas 3 & S-a7 9
E i i 1 1

(A) FAINT

(B) =&

(C) He|

(D) tjwcrrfiqa%a@a

AYgHF FrgEe § Freafafies § @
-9 CFC warel wgad Brem & ?

(A) R10 (B) R12

(C) R22 (D) R21

139 wEieH (TR) = Btu/hr.
(A) 200 (B) 1200

(C) 12000 (D) 3024

Territ oI Torerehl Hiex A Terlt TRE 48 kKW
(95% FHTeI) IR weex A Fwr e
167.5 KW & 7
(A) 45.6 kW

(C) 213.1 kW

(B) 121.9 kW
(D) 456 kW

% IgER, & I Fol
mamvﬁa ST &4 aTel Uek geiias
=I5k ol TSI U7 I ¢ |

A) Frie Fm
B) e fuy
(C) e wermer fam
(D) 3T ™ & IS &l
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111.

112.

113.

114.

115
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Among the following, select an
appropriate refrigeration temperature
requirement for frozen foods.

(A) 0to 10°C

(B) —10t02°C
(C) -35°C
(D) —10to-15°C

Which of the following statements is
wrong ?

A) High boiling point.

(

(B) High latent heat of variation.
(C) Low specific volume of vapour,
(

D) Higher critical temperature.

Which of the following uses air as the

refrigerant ?
(A) Erikson
(B) Stirling
(C) Carnot
(D)

D) Bell Coleman

Refrigerating effect produced by the
melting of ice is
(A) 100 kdkg
(B) 385 kd/kg
(C) 365 kJkg
(

(D) 195.6 ki/kg

Moisture in a refrigerant is removed
by

(A) Evaporator

(B) Safety relief valve
(C) Dehumidifier

(D) Drier

116.

117

118.

119.

120.
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A high latent rate implies

(A) Low heat transfer

(B) Low viscosity

(C) Lower condensation rate
(D) None of these

COP of domestic refrigerator must be
(A) Lessthan 1

(B) More than 1
(C) Equal to 1
(D) Depends upon maker

The required input to the steam jet
refrigeration systems is in the form of

(A) Mechanical energy

(B) Thermal energy

(C) High pressure motive steam
(D)

D) Both mechanical and thermal

energy

In a refrigeration system, expansion
device is connected between

(A) Evaporator and compressor
(B) Receiver and evaporator
(C) Condenser and compressor
(D) None of these

In a lithium bromide absorption
refrigeration system

(A) Lithium bromide is used
as refrigerant and water as an
absorbent

Water is used as a refrigerant and
lithium bromide as an absorbent

(C) Ammoniaisusedasarefrigerantand
lithium bromide as an absorbent
(D) None of these




112.

113.

114.

115.
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. FrefaRen § 8, @ gran ¥ fresh

TR AIYH STTavIehRal 9T |

(A) 0¥ 10°C

B) —10¥2°C
(C) —35°C
(D) —10¥® -15°C

el @ @ Se-w1 59 oA @ ?
(A) I3 FILHTH |

(B) 3= y=39 H1 H i |

(C) arm™q =1 e fafime Sfmae |
(D) =R ek a9 |

Prfife 8 BH-a1 7 o e
& B Y YT HEATR 7
(A) T
(B) wfefm
(C) =HHie
(D) & HIAHT
a3 firerert © Seas st S 2
(A) 100 kJ/kg
) 335kJ/kg
(C) 365 kJkg
(D) 195.6 kd/kg
U W¥iTaeR | TH <l
SR |
(A) ECRILCA
L& Ted dica

feegmfewrr
TR

EUUER]

(B)
(C)
(D)

1186.

117.

118.

110.

120.
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Cie BT 2 S

(A) =1 e T

(B) = v

(C) T dus =

(D) ¥ ¥ s el

e Wias i COP

(A) 13 FH

(B) 1% =it

(C) 13 SR

(D) &M It W AR

I & S gefias yorelt # wifsa aw
FEIUBAR |

(A) TR St

(B) EAT Fstt

(C) 3= <Te TIA™HH 919

(D) I St 3R ey St gt

TF Wiid gomedt ®, faeamor susso
% die ST B2 |

ST el 2 |

B =fR |

(A) TAURST 3 HIW

(B) fdiaw 3R zaue

(C) T 3R FITW

D) W & FI e

AN FHSS TN Feiiad Jomet |

(A) i FmEs wfias & 9 4 30t
ST AT % T H JIH eral 8

(B) STeT Weh WNiiaeh & &9 H 3 Aiferem
SIHIES U TaNITH o &9 7 g5

C) Wit © weitasw K fifsm
SATES T NS & ©9 §
G

(D) 38 T s 7
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121.

122.

123.

124.

125.

126.
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Aqua ammonia is used as refrigerant in
the following type of refrigeration

(A) Compression (B) Direct
(C) Indirect (D) Absorption

The leaks in a refrigeration system using
Freon are detected by

(A) Halide torch (B) Sulphur sticks
(C) Reagents (D) Smelling

In Freon 12 systems, superheating
(A) Increases COP

(B) Decreases COP

(C) Maintains COP same

(D) None of these

In an air cycle refrigeration system, low
temperatures are produced due to

(A) Evaporation of liquid air
(B) Throttling of air

(C) Expansion of air in turbine
(D) None of the above

Air cycle refrigeration systems are most
commonly used in

(A) Domestic refrigerators

(B) Aircraft air conditioning systems
(C) Cold storages

(D) Car air conditioning systems

Anozzle is used in steam jet refrigeration
systems to

(A) Toconvertthe high pressure motive
steam into high velocity steam

(B) To reduce energy consumption
(C) To improve safety aspects
(D) All of the above

127.

128.

128.

130.
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The materials used in thermoelectric
refrigeration systems should have

(A) High electrical and thermal
conductivity

High electrical conductivity and low
thermal conductivity

Low electrical conductivity and high
thermal conductivity

Low electrical and thermal
conductivity

Evaporative cooling systems are
ideal for

(A) Hot and dry conditions

(B) Hot and humid conditions
(C) Cold and humid conditions
(D)

Moderately hot but humid
conditions

O

In a vapour compression refrigeration
system, a condenser is primarily required
so that

(A) A high pressure can be maintained
in the system

The refrigerant evaporated in the
evaporator can be recycled

(B)

(C) Performance of the system can be

improved

Low temperatures can be
produced

(D)

The function of an expansion valve
is to
Reduce the refrigerant pressure

Maintain high and low side
pressures

Protect evaporator
All of the above




122,

123.

124,

125.

126.
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127. i S=iiad Yonfedi 3 Sgad 9ard
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132.

133.

134.
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Which of the following can be called as
a refrigeration process ?

(A) Cooling of hot ingot from 1000°C
to room temperature

Cooling of a pot of water by mixing
it with a large block of ice

Cooling of human beings using a
ceiling fan

Cooling of a hot cup of coffee by
leaving it on a table

In a triple fluid vapour absorption
refrigeration system, the hydrogen gas
is used to

(A) Improve system performance
(B) Reduce the partial pressure
of NH,

Circulate the refrigerant
Provide a vapour seal

(C)
(D)
Ethyl ether was the first refrigerant to
be used commercially, because

(A) It exists as liquid at ambient
conditions

(B) Itis safe

(C) Iltis inexpensive

(D) All of the above

Sulphur dioxide was mainly used in small
refrigeration systems, because

(A) Itis non-toxic and non-flammable
(B) It was easily available

(C) Itis expensive

(D) It has small refrigeration effect

The synthetic CFC based refrigerants
were developed by
(A) Partial replacement of hydrogen

atoms in hydrocarbons by chlorine,
fluorine etc.

(B) Modifying natural refrigerants such
as carbon dioxide, ammonia
(C) Modifying inorganic compounds

by adding carbon, fluorine and
chlorine

(D) Mixing various hydrocarbons

136.

137.

138.

139.

140.
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CFC based refrigerants are being
replaced as they are found to

(A) React with several materials of
construction

(B) Consume more energy
(C) Cause ozone layer depletion
(D) Expensive

The early refrigerant compressor design
resembled

(A) Automobile engines

(B) Water pumps
(C) Steam engines
(D) None of the above

The early compressors were able to
handle liquid and vapour mixtures as
they were

(A) Double acting, reciprocating type
(B) Horizontally oriented
(C) Steam engine driven
(D) Low speed machines

Which of the following is not a positive
displacement type compressors ?

(A) Reciprocating compressors
(B) Scroll compressors

(C) Screw compressors

(D) Centrifugal compressors

Food products can be preserved for
a longer time at low temperatures
because

(A) At low temperatures the bacterial
activity is reduced

(B) Enzymatic activity is increased at
low temperatures

(C) Quality of food products improves
at low temperatures

(D) All of the above
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141.

142.

143.

For the same condensing temperature

and refrigeration capacity, a vapour

compression refrigeration system

operating at a lower evaporator

temperature is more expensive than a

system operating at a higher evaporator

temperature, because at low evaporator

temperature

(A) Volumic refrigeration effect is high,
hence the size of the compressor
is large

(B) Volumic refrigeration effect is small,
hence the size of the compressor
is large

(C) Specific refrigeration effect is high,

hence size of evaporator is large

(D) All of the above

Subcooling is beneficial as it
(A) Increases specific refrigeration
effect

Decreases work of compression

Ensures liquid entry into
condenser

(D) All of the above

Solar energy based refrigeration
systems are developed to

(A)
(B)
(C)

Reduce fossil fuel consumption
Eliminate compressors

Produce extremely low
temperatures

(D)

None of these

MKG-XVIVTECHCIRACM/IT/01

144. Open type compressors are used in
(A) Domestic refrigeration and air

conditioning

(B) Large industrial and commercial

refrigeration systems

(C) Only CFC based refrigeration

systems

Only in natural refrigerant based

systems

145. Study of the properties of mixtures of

air and water vapour is called
(A) Psychology

(B) Psychiatry

(C) Psychrometry

(D) Psychopathy

146. is the study of energy

interactions between systems and
the effect of these interactions on the

system properties.
(A) Thermometry
(B) Thermodynamics
(C) Thermosystem

(D) Thermopathy
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Low temperatures can be obtained
when certain salts are dissolved in

water. This is an process.
(A) Epidemic

(B) Endemic

(C) Endothermic

(D) None of these

The disadvantages of natural refrigeration
methods are

(A) They are expensive

(B)

(C) They are not environment friendly
(D) All of these

They are uncertain

Evaporation of liquid requires
heat during evaporation.

(A) Latent
(C) Explosive

(B) Evaporative
(D) None of these

Hermetic compressors were
developed to

(A)
(B)

Improve energy efficiency
Overcome refrigerant leakage
problems

(C)

(D)

In a vapour absorption system ,
performs distillation of the vapour from
the rich solution, leaving the poor
solution for recycling.

(A) Absorber (B) Pump
(C) Condenser (D) Desorber

Improve serviceability
Reduce weight

152.

153.

154.

185.

156.
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In a vapour absorption refrigeration
system, the refrigeration temperature
is — 158°C. The generator is operated
by solar heat where the temperature
reached 110°C. The temperature of the
heat sink is 55°C. Maximum possible
COP of the system is

(A) 1 (B) 0.5

(C) 0.34 (D) 0.25

Which of the following substance is
non-flammable ?
(A) Propane
(C) Ammonia

(B) Methane
(D) R134a

A four pole, 50 cycle AC motor will have
a stator speed of

(A) 1000 rpm
(C) 2000 rpm

(B) 1500 rpm
(D) 2500 rpm

A system which is completely
uninfluenced by the surrounding is
called

(A)
(B)
(C)
(D)

Closed system
Open system
Isolated system

D) None of these

A machine working on a Carnot cycle
operates between 305 K and 260 K.
COP of this when it is operated as a
heat pump is
(A) 5.78

(C) 0.147

(B) 6.78
(D) 7.78
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157.

158.

150.

160.

1.5 kW per tonne of refrigeration is
required to maintain the temperature
of 233 K in the refrigerator. If the
refrigeration cycle with COP of 2.33
works on a Carnot cycle, temperature
of the sink is

(A) 210K
(C) 233K

(B) 220K
(D) 333K

The relative coefficient of performance
is

Theoretical COP
Actual COP

5 Actual COP
(B) Theoretical COP

Actual COP + Theoretical COP

(C) .
Theoretical COP

Actual COP + Theoretical COP
Actual COP

(D)

Air refrigeration cycle is used in
(A) Commercial refrigeration
(B) Domestic refrigeration

(C) Air conditioning

(D) Gas liguefaction

In air-conditioning of aeroplane, using
air as a refrigerant, the cycle used is

(A) Reversed Carnot cycle

(B) Reversed Joule cycle
(C) Reversed Brayton cycle
(D) Reversed Otto cycle

161.

162.

163.

164.
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The ratio of heat extracted in the
refrigerator to the workdone on the
refrigerant is called

(A) Coefficient of performance of
refrigeration

Coefficient of performance of heat
pump

Relative coefficient of performance

Refrigerating efficiency

A bootstrap cooling system has
(A) One heat exchange

(B) Two heat exchange
(C) Three heat exchange
(D) Four heat exchange

A reduced ambient air cooling system
has

(A) One cooling turbine and one heat
exchange

(B) One cooling turbine and two heat
exchange

(C) Two cooling turbine and one heat
exchange

(D) None of these

Clapeyron equation is a relation between
(A)
(B)
(C)

specific volume and enthalpy
temperature and enthalpy

temperature, pressure and specific
volume

(D)

temperature, pressure, specific
volume and enthalpy
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165.

166.

167.

168.

169.

In vapour compression cycle, the

condition of refrigerant is saturated

liquid

(A) after passing through the
condenser

(B) before passing through the

condenser

(C) after passing through the expansion

throttle valve

(D) before entering the expansion

valve

The boiling point of ammonia is
(A) —100°C (B) —33.3°C
(C) 0°C (D) 38.3°C

One ton of refrigeration is equal to the

refrigeration effect corresponding to
melting of 1000 kg of ice

(A) in 1 hour

(B) in 1 minute
(C) in 24 hours
(D) in 12 hours

One ton refrigeration corresponds to
(A) 50 kecal/min

(B) 50 keal/hr
(C) 80 keal/min
(D) 80 kcal/hr

The refrigerant for a refrigerator should
have

(A) high sensible heat
(B)
(©)
(D)

high total heat
high latent heat

D) low latent heat

170.

37

172.

173.

174.
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In a vapour compression cycle, the
refrigerant immediately after expansion
valve is

(A)
(B)
(C)
(D)

liquid
sub-cooled liquid
saturated liquid
wet vapour

Absorption system normally uses the
following refrigerant

(A) Freon-11 (B) CO,
(C) SO, (D) Ammonia

Short horizontal lines on
pressure-enthalpy chart show

(A)
(B)
(C)
(D)

constant pressure lines
constant temperature lines
constant total heat lines
constant entropy lines

In ancient India, ice was made by
keeping a thin layer of water in a shallow
earthen tray and then exposing the tray
to the night sky. This is

(A) Nocturnal cooling
(B) Natural cooling
(C) Evaporative cooling
(D) None of these

In isentropic process, gases can also
be expanded from high pressure to low
pressure either by using

(A) Turbine

(B) Compressor
(C) Throttling device
(D) Condenser
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175.

176.

177.

178.

179.

Centrifugal compressors are used in

(A) Large refrigerant capacity
systems

In small refrigerant capacity
systems

Domestic refrigeration and air
conditioning

All of the above

(B)
(C)

(D)

Products involving fermentation reactions
require refrigeration because

(A) Fermentation process is non
exothermic

Fermentation process is
endothermic

(B)
(C) Fermentation has to be done at
controlled temperatures

(D) All of the above

refers to the ways and means of
reducing and maintaining the pollutants
inside the occupied space within
tolerable levels.

(A) IAF
(C) IAS

(B) I1AQ
(D) IPS

Common relation between air condition
and refrigeration is

(A) Heating

(B) Food preservation
(C) Humidification
(D) Dehumidification

Air conditioning involves

(A) Control of temperature
(B) Control of humidity
(C) Control of air motion
(D) All of these

180.

181.

182.

183.

184,

MKG-XVI/TECHCIRACM/IT/01

Higher the normal boiling point

is the molar enthalpy of
vaporization.
(A) Lower (B) Higher
(C) Zero (D) None of these
A is used primarily to check

pressures at the low and high side of
the compressor.

(A) Test gage

(B) Bourdon tube
(C) Hammer
(D) Wrench

Leak-proof and vibration-proof
compression fitting uses

(A) Capillary tube

(B) Copper tube
(C) Swaging tool
(D) None of these

Variable speed scroll compressor
uses an to convert a fixed
frequency AC current into one with
adjustable voltage and frequency.

(A) Expansion drive

(B) Inverter drive
(C) Displacement drive
(D) None of these

The present day frost-free refrigerators,
use forced convection of air by a fan
between

(A) Freezer compariment and
expansion valve

Freezer compartment and
evaporator

Evaporator and condenser
None of these
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185.

186.

187.

188.

189.

190.

Hydrofluorocarbons are flammable
due to

(A) H-atoms
(C) R11

(B) Carbon
(D) All of these

The machine which generates alternating
voltage is called

(A) Transformer

(B) AC motor

(C) Synchronous generator
(D) DC motor

Alternator in an AC motor works on the
principle of

(A) Thermodynamics

(B) Electromagnetic induction
(C) Electrocoupling
(D) None of these

Squirrel cage and slip ring are types
of

(A) Stator
(C) Rotor

(B) Winding
(D) Torque

Stationary part of induction motor which
contains balanced 3 phase winding is

(A) Rotor (B) Wheel
(C) Stator (D) Core
Superheating

(A) Always increases specific

refrigeration effect

Always decreases specific work of
compression

Always increases specific work of
compression

Always decreases compressor
discharge temperature

191.

192,

193.

194.
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Pressure drop and heat transfer in
suction line

(A) Decrease compression ratio and
discharge temperature

Increase compression ratio and
discharge temperature
Decreases specific volume of
refrigerant at suction

All of these

For an ideal refrigerant-absorbent
mixture

(A) There is expansion upon mixing
(B) The mixing process is exothermic
(C) The mixing process is endothermic

(D) Obeys Raoult's law in liquid phase
and Dalton’s law in vapour phase

Which of the following statements are
true ?

(A) Water-lithium bromide systems are
used for refrigeration applications
above 0°C only.

(B) Ammonia-water systems can be

used for refrigeration applications

below 0°C only.

Small ammonia-water systems are
used in domestic refrigerators.

(D) All the above

(C)

Hermetic compressors are used mainly in
smaller systems as they

(A) Yield higher COP

(B) Do not require frequent servicing

(C) Offer the flexibility of using any
refrigerant

Can be used under different load
conditions efficiently

(D)
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195.

196.

197.

Which of the following statements is
true ?

(A) Under ideal conditions, the static
pressure through an air condition
duct remains constant.

Under ideal conditions, the total
pressure through an air condition
duct remains constant.

Afanis requiredin anair conditioning
duct to overcome static pressure
loss.

(D) All the above

When the temperature of refrigerant
leaving the intercooler is more than the
suction temperature of refrigerant, the
intercooling is said to be

(A) Complete intercooling

(B) Perfect intercooling
(C) Impertect intercooling
(D) None of these

Highest temperature encountered in
refrigeration cycle should be

(A) near critical temperature of
refrigerant

(B) above critical temperature

(C) at critical temperature

(D) much below critical temperature

198.

199.

200.
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Conventional refrigerators use
(A) Dry evaporators

(B) Bonded evaporators

(C) Open type evaporator

(D) None of these

isamethod of augmentation

of heat transfer.

(A) Recirculation

(B) Outer fins

(C) Smoothing the surfaces

(D) All the above

is known as ‘Father of Air
Conditioning’.
(A) Alexander Twining
(B) Leonardo da Vinci
(C) Robertson Buchnan

(D) W. H. Carrier
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13.

14.

15.

17.

18.
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Faflearl & foru wEwagul sEEm

This booklet contains 48 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Correct Method|

0000

Wrong Method

0&00

\\Wmﬁg Method

O®00

Wrong Method
O®00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each

question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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